Troublesome Towers Worksheet

Name _____________________________

Surface Area of Cones


Date ______________________________

1. Explain how you developed the formula to find the surface area of a cone.

2. Could two cones with different radii and slant height have the same surface area?  Explain.

3.  We discovered the formula for lateral surface area of a cone.  If you needed to calculate the total surface area of a cone (including the base), how could you adjust the formula?

Round all answers to the nearest tenth.

The radius of a cone is 4 cm and the slant height is 7 cm. 

4.  What is the lateral surface area of the cone?

5.  What is the total surface area of the cone?

The diameter of a cone is 8 inches and the slant height is 12 inches.

6. What is the lateral surface area of the cone?

7. What is the total surface area of the cone?

The radius of a cone is 12 m and the height of the cone is 20 m.

8. What is the lateral surface area of the cone?

9. What is the total surface area of the cone?

10. The lateral surface area of a cone is approximately 138.5 square cm.  If the radius of the cone is 6.3 cm, what is the slant height?

11. If the lateral surface area of a cone is approximately 204 square inches and the radius if 5 inches, what is the height of the cone?

Katana Summit in Columbus makes towers for wind turbines.  These towers are truncated cones, meaning they are cones shaped with part of the top cut off so they do not have a point at the top.  They need to know the surface area of the tower because each tower needs to be painted to protect the tower.  

Suggested visual: http://mathworld.wolfram.com/ConicalFrustum.html
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12. The base of the tower has a diameter of 14 feet.  The top circle on the tower has a diameter of 8 feet.  If the tower was not truncated and continued to the vertex at the top it would have a height of 
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feet.  What is the lateral surface area of this cone?

13. How can you use the surface area of the total cone to find the surface area of the tower?  Hint:  Think subtraction.

14. The height of the tower is 80 feet.  Calculate the lateral surface area of the tower.
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